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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Sun Ltd. is considered to purchased a new machine. 3 alternative machines
A, B & C are available costing Rs.7,00,000 each. Cash inflows are expected

to be as follows: [14]
Year Machine A | Machine B Machine C
Rs. Rs. Rs.
1 1,00,000 2,50,000 4,00,000
2 2,00,000 2,50,000 3,00,000
3 3,00,000 2,50,000 2,00,000
4 4,00,000 2,50,000 1,00,000

You are required to advise the management on the basis of following methods.
a) Payback Method.

b) Net Present Value.

c) Discounted Payback Method.

Expected rate of return is 10% which present value of Rs. 1 for subsequent
next 4 years is as follows :

Year 1 2 3 4
Present
Value Rs. 0.909 | Rs. 0.826 | Rs. 0.751 | Rs. 0.683
Factor

OR

What do you mean by material cost variance? Explain the classification of
material cost variance into different categories with suitable illustrations. [14]
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Q2) Jaihind Co. Ltd., Jaipur have Rs.37,500 cash at bank as a opening balance
on 1% April, 2015 and requires you to prepare an estimate of cash position
during the three months ended 30" June, 2015. The cost data is made available

to you is as follows: [14]

2015 Sales | Purchases| Wages | Works | Management | Selling

Months Overhead [ on Cost Expenses
Rs Rs Rs Rs Rs Rs.

February| 75,000| 45,000 | 3,000 7,500 6,000 4,500
March 84,000 48,000 | 9,750 8,250 6,000 4,500
April 90,000 | 52,500 {10,500 9,000 6,000 3,500
May 1,20,000| 60,000 (13,500 | 11,250 6,000 2,250
June 1,35,000 60,000 {14,250 | 14,000 7,000 7,000
Additional Information is as follows :

a) Period of credit allowed by suppliers is two months.

b) 20% of Total Sales are for cash and period of credit allowed to customers
for credit sales is one month.

c) Delay of payment of all other expenses is one month.

d) Preference share dividend amounting to Rs. 57,500 is to be paid on
It June, 2015.

e) The company is to pay bonus to workers of Rs. 22,500 in the month of

April.
f) Plant has been ordered to be received and paid in May, which will cost
Rs. 1,20,000.
g) Income tax of Rs. 15,700 is due to be paid in April, 2015
OR
What is ‘Marginal Costing’? Explain the objectives, advantages and limitations
of Marginal Costing. [14]
Q3) a) Write a short note on ‘Weighted Average Cost of Capital’. [7]
OR

The following information is obtained from Ashoka Ltd. for the year
ended 31.12.2014.
Sales (1,00,000 units)  Rs. 1,00,000

Marginal Cost Rs. 60,000
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Fixed Cost Rs. 30,000

Calculate :

i)  BEP(Sales-value)

ii)  Sale to earn a profit of Rs. 15,000

iii) Profit when sales amounted to Rs. 1,40,000.

b) Write a short note on ‘Zero Base Budget’ (ZBB) : [7]

OR

The standard time for unit component X are given below :

Standard hours per unit . 15

Standard Rate : Rs. 4 per hour

The actual data and related information are as under :

Actual Production : 1,000 units

Actual Hours : 15,300 hours

Actual Rate : Rs. 3.90 per hour

Calculate :

i)  Labour Cost Variance
i) Labour Efficiency Variance
i) Labour Rate Variance.

04) Write Short Notes (Any Two) : [8]
a) Make or Buy Decision.
b) Explicit Cost.
c) Key Factor.
d) Internal Rate of Return.

* K *
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